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Full Marks : 100

Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks
for the questions.
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1. (@) P11 11 UIC DIZIAS WILL applupiiaie ywues .

oty = FERIE XFEA 21 S ¢

(i) If a partner takes over a liability of the firm, the partner's capital account '
is
e S A e iR W (A SR P, oI SRR
JETHR 2R 4l =4 |

(ii) A partner acts as an for the firm.
GG A SAmE] iR e R =

(i) When Partners’ Capital Accounts arc fixed, then their Accounts

are prepared.

WL YU AR a9 2 2E, 939 el i e =4 2|

(iv) is the extra earning capacity of a firm.

=] G5 S Afewier Sfekie w@ie wEaceE el

(b) Choose the correct alternative : 1%x2=2
g Ted (JA0Z, (S0l 3
(i) In the event of ‘death of a partner, the amount of general reserve is
transferred to the Partners® Capital accounts in :
G AW T A, A e FE A B SemEeE T 2@
(1) New Profit sharing ratio

T FNCET ATER AT

(2) 0Old Profit sharing ratio

AR FICCA ABCEE AT
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(2) Ldpltel Lellv "
Tet SRAICS
(4) Nonc of the above

TARE qFhe 7|

(ii) Balance Sheet shows :
(1) Financial Position of a Company
@A i o=
(2) Profit or Loss of a Company
GFfG (I FTS-CETIF
(3) Cash flow of a Company
GFG (@A A9l qeeid aTE

(4) None of the above

TG GbE =T |
(¢c) State whether the following statements are truc or false : 1%2=2
qva Aimelst wa  wwE = 8

(i) The deceased partner’s executor is entitled to a share of Profit for the period

upto his / her death.
Ts ScimicE afeiE exfwmerm g 7o oE M #S T ik W Al |

(ii) A Preference shareholder gets interest at a fixed rate.

T SeliffeRge SRAmE <50l WS 7w Hiiw|
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a3 S age T A AR @ (@ 7o @RY @I

3. A, B and C are partners sharing profits in the ratio of 2:2:1. C retircs. A and B have
decided to share future profits and losses in the ratio of 2:1. Calculate the gaining ratio.

2

et

A B € C2:2:1 SRPICS sife 96 F0 ST 95 e C O 829 @1 A S B
Gﬁmmm@ﬁmm 21 1 SeHAIne 1% g9 Frare azst T wicen wnpe Rl s

4. Mention any two features of debentures. 2

AGATI (F (I 7o (@R S |

5.  Mention any two methods of valuation of goodwill.

2

ARAT FAN A (& (<l 7o Awfen T e |

6. X Ltd. decided to forfeit 1,000 sharcs of 2 10/~ each for non-payment of allotment
money for 2 4/- each and Ist and final call money of 2 3/- each. Give journal entry for

the forfleiture of shares. . o)

P

X fficee 10000 10%@‘4@\%@%@&34%@ 8 22 @ [UIT T 3 B S A
SIS ACTHIE A | ] A T T 27 e |

7. X, Y and Z are partners sharing profits in the ratio of 3:2:1. It is now agreed that lhey
will share the future profits equally. Goodwil} of the firm is valued at 2 60,000/~ and

the same does not appear in the books. Pass necessary journal entries. 8

X, Y. 7 3:2 : 1 SEeice @6 564 Wi Semia a9 303 | o Fais (W (3 S #e
S SeAlce 95 F0E | AfSHIER T 60,000/~ SRER €3 41 7| Afeuier Irem I
Afirge a1 =i | e Tl e @ we |
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8. Brielly explain any three ODJECUVCS O1 QRMALYSIS U1 LUALLIAL dtattiuviis.

- REw Rgfen Rewwca 7 @ 15 S At S |

Or /

From the following, calculate current Ratio : 3.
Twa SYIPNE viere SEETS e <@t

’ <
Sundry Debtors ~50,000/-
GIEERLRILE
Stock 40,000/-
S A0
Prepaid Expenses 2,000/-
wfE <& |
Sundry Creditors 38,000/-
TRy sieami
Bank Overdrafi 10,000/-
[E COEAGRD
Dividend payable 10,000/~
AWg TSI
10% Debenture 40.000/-
10% 499
Machinery : 50,000/-

9. What do you mean by Forfeiture of Shares ? Discuss the procedure of forfeiture of

shares. 3

Sexielg AETATRA S 2 @B AT ST FE |
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10.  WHAL TS nICANT BY COMIMIOTI DI/C DUTTUIIIVIRg & T¥Avmaw=s wmm oo = = =

Statements. ' : 3

7 s R e ® @i 93 Refer [ @ 5 TR S T |
Or /gt

Give any three distinctions between sacrificing ratio and gaining ratio. 3

ETHATS @ ASRACS Ty (& @I [T AL @A

11. Mention any three objectives of Receipts and Payment Account. 3

T @ Aed BAEE & e fem/5 Sy Sramd et |

12. Give the new format of the Balance Sheet of a Company (main heading only) as per

the requirement of schedule V1 of the Companies Act, 1956. 3
S eb FER @ aiREE VI AR Sl $EeHitd g D (2 MG S
Al

COr/ 999

Distinguish between a Company’s Balance Sheet and a Balance Sheet of a Partnership

Firm. 5

@IATE Tetly @ SRAME! T SFEHATT WY sftefery sz Sravd FEl |

13. Assam Cricket Club has a Cash and Bank Balances of 2 1,600/- and 2 20,000/-
respectively on 01-04-2013. From the following details, prepare a Receipts and
Payments Account for the year ended 31-03-2014 ./ 5

T (T HiEd 01-04-2013 S #AE woi 47 8 CF & Siest @ 1,600/- i 8
20.000/- Bl Tzt

firere FBegd (2 31-03-2014 o8 I (CF Tl 8 A0 B oge S
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Donation received
o2 vl
Entrance fee received

Y A WP

Donation received for Building

GG Gy 3“@ 7l

Furniture purchased

‘El'iﬂﬂi@ﬁ G

Salary paid for the year

A du(E@d (Fon &S

Salary paid in advance

e Yve @

Repair to Building
TFE CENfE (FIRER L)

Rent received

UlE ool

Wages paid

Outstanding Salarics

e (T

Depreciation on furniture

Maintenance Grant

SAATE Gl Wi
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18,000/-
6,000/-
90,000/-
18,000/-
10,500/~
2,000/-
1,500/
1,500/-.
6,000/-
1,500/-
2,000/-

900/-

(7]
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- Subscription received :
=fie Wil (BMl)
FFor 2012-13 _ s 8,000/-
2012-13-4 Gej

For 2013-14 = 25,000/~ -
2013-14-7 &

For 2014-15 = 1,000/-
2014-15-9 &lj

Lifc Membership Fees = 4,000/-
SIG I 7o) s

Balance of Bank on 31-03-14 ' = 1.35.000/-
31-03-14 wifard WiE A=E T Gl

14. X Ltd. made a profit of 2 5,00,000/- after considering the following items :

s ove Ragel Keea " #8 X-Ltd. Rs. 500,000/- 5T® SHGIPG

. z
Goodwill written ofil' = 5,000/~
FNEE A (RSH BT "
Depreciation on Fixted Assets = 50,000
) TARE oIt O
Loss. on Sale of Machinery = 20,000
Tgolife @i (AP @

Provision for doubtful debt ~ 10,000

AEEGP e G) o[ A2
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Gain on Sale of Land = 7.300

Wit Bi&F (Ao «iie

Additional information :

wfefae © ¢

31-3-2014 31-3-2013
®) ()

Bills Receivable 78,000/- 52.000/-
At e
Prepaid Expenses 3,000/- 2,000/-
e #wE 25
Bills Payable 51,000/- 40,000/-
Gl alto
Expenses Payable 20,000/- 34,000/-

fare aife AF 446

Calculate Cash 1‘1'.0111 Operating Activities for the year ended 31st March, 2014. 5
31 W6 2014 7T 9 (A AT SR (40T AW S ek e T

| Or/ Gl
What is Cash Flow statement ? Briefly explain any four objectives of preparing a Cash
Flow statement. N o 144=5

ot mef waEn eferawa F1e @M Sl gy dfeETE oY R CPICT! 5IAfG Gy
Rl A S | '
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15. Prom the given information. calculate the sBCK Tmovet "Rutio™ <" — === * ¥>"
Sioa o2 (A, NS AR SASEE Wl Fe W ¢

Sales ' = z 4,00, 000/-
o
Gross Profit Ratio = ' 25%

{5 wliced SRS
()pf.,mnsz Stock was 1/3rd of the value of the Closing Stock.
g . 2l Tee (NTE SIgS AT T 1/3 =i |
Closing Stock was 30% of Sales.
i g ey few famw JqeTe 30% |
Or / T2t

IHow are the accounts -sctiled between pariners on the dissolution of a Partnership
Firm ? ' 5

SeAmE] AR AfSHIER ST 20 J%W%Wﬁ?rﬁﬁrmmtmmm?

16. ‘The Balance Sheet of A, B and C who were sharing profits in proportion to their
capitals stood as follows on 31st March, 2014 :

A. B8 C fofem Seimid Sitnd et IS A A6 SARE R 31 36, 2014 ifacd
iz Fefesia Fe real sepE T2 -
Balance Sheet

Tged (FJETT AG)
Liabilities (W) Assets (F7f@)
Sundry Creditors 14.,400/- Cash at Bank 5,500/-
R TR | Y <A I 4
Capital Accounts : Sundry Debtors ; 4,900/-
T oAe &Py maviE
A =18,000/- Stock 8.000/-
B =13,500/- TGS A
C= 9,000/~ 40,500/- Investments . 11,500/-
s
Land of Building - 25,000/-
il ¢ e
54.900/- 54,900/-
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B retired on the above date on the i"ol-lowi;l'g terms and conditions :
A ezl <6 i, UAkSe Wit B o9 agd TEE
(i) That stock be dcprcciatcd by 6%.

G PR ETR SO 6% 2 SR 4Al 'A|

(i) That a provision for Doubtful Debt be created @ 5% on Debtors.

(IR B2/ 5% 2 ATHLES A9 W SRACS AT A FA00 274 |

(iiiy That Land and Buildings be appreciated by 20%.

ofil 8 SR W 20% 20 e A |

(iv) That the Goodwill of the entire firm be fixed at = 10,800/~ and B’s share goodwill
be adjusted into the accounts of A and C who are going to share future profits

in the ratio of 5:3. (No Goodwill account is to be raised).

It I 331 10,800 bl €14 311 270 '8 O ()0 Bt wigd] A e C- i
ey ACAIRS A1 A ¢ C-97 SRICE #l€ IGE AT A 5 1 3 (TR G
AR A 2 i) |

Pass the necessary journal entries in the books of the firm. 5

AR LMo AT SiEv @ nie |

Or /93t
Explain the issue of Shares at par, at a discount and at a premium. 5

THPEd ANEE, AGiee € wiEEE [iEsacem e el
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17.  A.B. and C were partners 10 a I SUGLILETPIULIL b tav ssesy ve ===

2013, their Balance Sheet was as follows :
A, B € C 532 TS o I T T TR AfPIE dw fe L 31 915, 2013
s sioE e fosre wosl @l ¢ ;

Balance Sheet

Tgerid

Liabilities (C7) - 2 Assets (TAfE) 2
Creditors 11.000/- . Buildings 20,000/-
AHleqmig | ©e |
Reserves ' 6,000/- Machinery . 30,000/-
IS | 7 7{if®
Capital : Stock : 10,000/-.
TE - ' TGS 7T
A=30,000/- Debtors - 19.000/-
B=-25,000/- e
C=15.000/- 70.,000/- Cash at Bank 8.000/-

iE ool o s

87.000/- U 7.000/-

A died on 1st October, 2013. It was agreed between his exccutors and the remaining
partners that :

[ wC3E, 2013 Sif A-Gia T 74 | o TeRifEat TR SRR W B 2 (3 ¢
(i) Goodwill to be valued at 24 years purchase of the average profits of the previous
four years which were . -

SIS FT 20 RoTS B TR 918 A 2, s &1 | TS B T S <R
oo —
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Year / F. Profit /&S

2
2009-2010 13,000/-
2010-2011 12,000/-
- 2011-2012 20,000/-
2012-2013 15,000/-

(i)  Machinery and Building be valued at 2 28,000/~ and 7 25,000/~ respectively.

TGS @ SR o TG 28,000 B! € 25,000/ il 4 T AN

(iii) Profit for the year 2013-14 be taken as having accrued at the same rate as that

of the previous year.

2013-14 e =S RIS e FTRE TA I @ A
(iv) Interest on capital be provided at 10% p.a.

TR ST T AR RSl 10% @1 24|

(v) The amount due to A shall be transferred to his Executors's Loan Account.

A-<d 2o i e TeifEedE 4 am (SHEet) T w4l 2[ |

()]

Prepare A’s Capital Account as on the date of his death.

A-a7 TR Sifrd OF JEdeR BAR 8w 3|
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18. A and B are partners sharmg ProIiis M UIE (UL 0L Jvde fiivsssomemsss s o
31.03.14 was as follows: _
A € B SR gEe 3 ;2 TEAS () Fe % | 31.03.14 e Sied fEfea
Temre g = e
Balance Sheét
e 4B (Tgera)
Liabilities (%) Assets (&)
Capital Sundry Assets 17,000/-
JF e il
A=10,000/- , Profit & Loss Alc 5,000/-
B=2,000/- 12,000/~  sTe-GRACHE @R
General Reserve 2,500/-
ARe S
Sundry Creditors 7,500/-
fafy Alema

19,

The firm is dissolved on the above date. Assets are realised at < 13.500/-. Dissolution

expenses came to 2 250/-. Give journal entrics to close the books of the firm. 5
Boirem ifard iR S T |

Ry s B =@ 13.500/- S ST 2 | SRR A A 2t 250/ Sl afswiea
fGraa WSl 9% A G Sl R e |

Precty and Jyoti are partners in a firm sharing profifs in the ratio of 3:2. The Trial

Balance of the firm as on 31-03-2014 was as follows :.

5% @ (@ife o AfedieE ST | Sk 3 @ 2 SEACS Fe <% T | 31-03-2014 i

Sl g8 femral Toare e fEm —
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" Trial BalAnce

Gl e

Particulars Debit Amount . Particulars Credit Amount

Tzl R mim el ErERERI

Z 2
Debtors 10,000 Trading A/c 41,120
eilviet Q= AR
Furniture 10,000 Bad debt recovered ‘ 600
S SRR A e
Machinery 31,000 Sundry receipts 1,000
agiifs . Ty anfe
Salariecs 13,200 "Provision for bad debts 800
S ' SR AR slkAre 99 -
[nsurance Premium on Mechinery 1.200 | Commission - 250
woiifea S Wl ()
Bad debts 200 Creditors 10,000
T e Al qid
Cash in hand 10,400 Rent Payable 200
2ICs A a9 gl u R R I
Rent 6,000 Bills Payable 2.400
S AifF A =
Bank Charges 420 Capital Alc :
T AT POkICEREGIEE -
Carriage Outward 1,450 Preety ' 20,000
“fzr@a oIffaes A A
Depreciation on Furniture 1,000 Joyti 15.000
PRICE SR . | &)1
Drawings :
PIE
Precty (%) ) 4,000
Jovti (Emif®) 2.500
91,370 01.370
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Prepare the Profit and 1.os§ A/C dnd MEPYURT ANa TOSS IIppropraamas o ——— === — ==

for the year ended on 31-03-14 and a Balance Sheet as on that date after considering
the following adjustments : ' 8

S5 oive FrmelE TR am 31-03-14 R Wi ¢ e Feaa G efevEne oS-
AR AR 8 FS- (TR ST 2 e Te i Hiesa 24Fs I 8
(i) Machinery is to be deprecia‘ted‘ by 10%
Folifed o <l 10% &1 2|
(ii) Provision for bad debt is to be increased by 2 200/-
Ta W zen A Afem sikars gl 200/ B g o= 2@

(iii) Precty was to receive, salary @ ¥ 300/- per month.
5 300/- el A T MR AT

(iv) Interest on Capital is allowed @ 5% p.a.
TG Bl AR *odl 5% [ med TA|

- Or/ G4

Distinguish between dissolution of Partnership and dissolution of Partnership firm.
ST AR € SRR AT SIS #Aidsy @Al

¥ 1.td. issued 2,000 shares of ¥ 100/- each at a premium of ¥ 20 payable as follows :
s 30/- on Application ' '

z 50/- on Allotment (inclﬁding securities premium 2 20/-)

2 40/- on First Call & Final Call.

All the shares were duly subscribed for, called up and paid up, except Miss Nitu who

holding 300 shares failed to pay First & Final call money. Show entrics in the Cash
Book and Journal of the company for the above transactions. &

B el 100/- Dt TR 2,00015 (2 TE) wReior 20 Gt wifag fFewee T
& RGO AR TS TA S

ST 0 30/~ B, SRSER ACF 50/- BI, &AL A GUIE & @ A 40/- B
SR G T S ATl (o | TS WA 0 a1 79 @ wde AArem
cﬂmﬁmm@ﬁm@300%&%@%@1@@@%@3{@@@%@@%@

ol 1| AR e SR EmeR TR ¢ TiEml 2lE e Sl
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SN v JUBHIIGE VUMW 10 LUOPALL UL WG TULIUW LY, d
S (SN TREPNIE T i ARB wis ¢
(i) Dcbentures issued at par, redeemable at a premium.
Heleiezs FEEn [l @ wfgEE oy |

(i7) Dcbentures issued at a premium, redeemable at par.

Hesicam SR [ e FuseEn sy |

Debentures issued at a discount, redeemable at par.

AeiAig ABE R ¢ wweeen AR

Debentures issued at a discount. redeemable at premium.
el qgice {4l e s s

Or/ 3447

What is meant by Redemption of Debentures ? Discuss briefly any three methods of
. 246=8
a0 TS @R et o SRR @ @ el et e S
&0 | '

(iii)

(iv)

Redemption of Debentures.

22. Ram and Shyam are partners sharing profits and losses in the ratio of 3:1. Their
Balance-Sheet as on 31-03-2014 is given below : -
A #F 3 1 1 TS Fe-CEIRHI 35 FE SR RN B F | 31-03-2014 Sifd
v Zfovig T (el 75 ¢
Balance Sheet (e =/5)
As on 31-03-2014 (31-03-2014 SrFfi)
Liabilities ( (%)) z " Asscts (#“’if%) ' : g
Capital A/c : Plant & Machinery 50,000/-
T 2R ¢ T € YIRS
Ram (4i¥) 60,000 Furniture - 10,000/-
Shyam (¥{7¥) 40.000  1.00,000 M.
Reserve 20,000 Stock 70,000/-
I& gt
Creditors 80,000 Debtors 15,000/-
“fl €A (At
Cash at Bank (I0& @)  55.000/-
2.00.000/- 2.00.000/-
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s B o

B med *iE AT ofite aem wed samE e e orem 2= ¢

(i) That Hari will bring = 40,000/~ for his capital and 2 20,000/- for the premium
for Goodwill.

w7 40.000/- S Teee T @ 20,000/~ DR FACH 7K T

(i) That Hari will get 1/3rd share in future profit.

37 sRare wced 1/3 = Al

(iii) That the value of stock is be reduced by = 7,000/

TGS SeE 7 7,000/~ BiF 2F w2

(iv) That the value of Plant and Machinery is to be depreciated by 20%.
W{@mmﬁﬁw 20% 2E TR &l T
(v) Furniture is to be reduced by 10%

HHaiEE w0 10% 26 29 w2

(vi) Bad debts amounted .to z 2,000/- and are to be written off.

TS A A 2000/- BRE AW OTeW 2|

(vii) There was an unrecorded computer valued at 2 10,000/- and the same is to be
-brought into books now.

< AErEe w1 4 10,000/- B T G FATHE BF e (% @ AlRgE T
2rd |

|
Prepare a Prevaluation Account, Partners’ Capital Account and the re- -constituted

Balance Sheet after Hari’s adlmssmn - 34+2+3=8 |

mﬁmm?ﬁmw\%@wﬁmesﬁ?ﬁgmmwﬁ%%ﬂmml
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Who are the users of financial statement ? Explain the informations they require from
financial statements.

ﬁ@ﬂaﬁmmmmwaﬂﬁr?ﬁ@ﬂa%@mcwmmemﬁ%ﬁwmaﬁmwu
3+5=8

25T-ACOU (BENG) _ [19]



